

SELLING FRIDAY NOVEMBER 2ND AT 6pm

TELO AUCTION DURING REGULAR WEEKLY SALE

- LOT 14 92 STEERS 550 LB AVG TOTAL 50,600 LB WEANED 45+ DAYS
- Lot 15- 78 STEERS 640 LB AVG TOTAL 49,920 LB WEANED 45+ DAYS
- LOT 16- 70 STEERS 720 LB AVG TOTAL 50,400 LB WEANED 45+ DAYS
- LOT 17 82 STEERS 625 LB AVG TOTAL 51,250 LB NATURAL CALVES
- LOT 18 ADDED 65 STEERS 750 LB AVG TOTAL 48,750 LB YEARLINGS
- LOT 19 ADDED 61 STEERS 850 LB AVG TOTAL 51,850 LB YEARLINGS
- LOT 20- 75 HEIFERS 700 LB AVG TOTAL 52,500 LB WEANED 60+ DAYS
- LOT 21- 94 HEIFERS 540 LB AVG TOTAL 50,760 LB WEANED 45+ DAYS
- LOT 22- 77 HEIFERS 650 LB AVG TOTAL 50,050 LB WEANED 45+ DAYS
- LOT 23- 87 HEIFERS 585 LB AVG TOTAL 50,895 LB NATURAL CALVES
- LOT 24 ADDED 65 HEIFERS 790 LB AVG TOTAL 51,350 LB YEARLINGS

\$8 Slide and 50 lb. weight stop on all cattle

Conference Call Number: 1-712-770-4700



Passcode: 857943#

All buyers must call in to register no later than 5^{PM} November 2nd, phone 304-647-5833 Please join the sale by 6 PM and use your phone's mute button when not bidding

LOT 14

92 STEERS – 550 LB AVG - TOTAL 50,600 LB – WEANED 45+ DAYS

Owner: Cattlemen's Calf Pool Grade: 85% M&L1, 15% M&L2 MARKET©READY Color/Kind: 85% Black & BWF, 15% Char X/Red X Weight: Avg: 550 lb Range: 485-600 Boehringer Ingelheim Weaned: Yes 45+ DAYS Feed: 5-6 lb commodity mix, hay, pasture Implanted: Some Health Program: Pyramid 5 (2x), 7 way clostridial (2x), pasturella, dewormed Weigh Condition: Haul 41 mile average to Cattlemen's Livestock, weighed individually **Pickup Date:** December 6th Clean Score: Clean Flesh: 5 **EVALUATION COMMENTS:** Good set of steers, good grass cattle, few with pinkeye scars, sort from over 600 head, \$150 refund on stags, 3rd party verified weaned 45+ days Contact: Brandon Myers 304-667-2178

LOT 15 78 STEERS – 640 LB AVG - TOTAL 49,920 LB – WEANED 45+ DAYS

Owner: Cattlemen's Calf Pool Grade: 90% M&L1, 10% M&L2 Color/Kind: 85% Black & BWF, 15% Char X/Red X Weight: Avg: 640 lb Range: 600 - 675 Weaned: Yes 45+ DAYS

Feed: 6-7 lb commodity mix, hay, pasture

Implanted: Some

Flesh: 5 few with few 6's

Health Program: Pyramid 5 (2x), 7 way clostridial (2x), dewormed

Weigh Condition: Haul 41 mile average to Cattlemen's Livestock, weighed individually

Pickup Date: December 6th

Clean Score: Clean

EVALUATION COMMENTS: Good set of steers, good grass cattle, few with pinkeye scars, sort from over 600 head, \$150 refund on stags, 3rd party verified weaned 45+ days

Contact: Brandon Myers 304-667-2178



LOT 16 70 STEERS – 720 LB AVG - TOTAL 50,400 LB – WEANED 45+ DAYS **Owner:** Cattlemen's Calf Pool MARKET©READY Grade: 95% M&L1, 5% M&L2 **Color/Kind:** 80% Black & BWF, 20% Char X/Red X Weight: Avg: 720 lb Range: 675-825 Boehringer Ingelheim Weaned: Yes 45+ DAYS Feed: 7-8 lb commodity mix, hay, pasture **Implanted:** Some **Flesh:** 5 few with few 6's Health Program: Pyramid 5 (2x), 7 way clostridial (2x), dewormed Weigh Condition: Haul 41 mile average to Cattlemen's Livestock, weighed individually Pickup Date: December 6th Clean Score: Clean **EVALUATION COMMENTS:** Good set of steers, few with pinkeye scars, top end, sort from over 600 head, \$150 refund on stags, 3rd party verified weaned 45+ days Contact: Brandon Myers 304-667-2178

LOT 17 82 STEERS – 625 LB AVG - TOTAL 51,250 LB – NATURAL

Grade: 97% M&L1, 3% M&L2 Color/Kind: 70-75% Black & BWF, 25-30% Char X/Red X Weight: Avg: 625 lb. Range: 550-725 Weaned: no Feed: Pasture Only Flesh: 5 with few 6's Health Program: Bovishield Gold 5, Vison 7, Long Range dewormed at turnout Weigh Condition: Pen sort from cows, haul from 4 farms, 10-23 mile to Cattlemen's Livestock, sex-sort and weigh top end. 25-30% penned night before weigh up. Late evening loadout. Pickup Date: November 19th – 22nd Clean Score: Clean EVALUATION COMMENTS: Good set of steers, few with small horns, sort from 109, top end sells. Good/large carcass potential.

Contact: Brandon Myers 304-667-2178

Owner: Jamie Hunter & Calvin Elmore

LOT 18 ***ADDED***

65 STEERS – 750 LB AVG – TOTAL 48,750 - YEARLINGS

Owner: White Oak Farms Grade: 43 M&L1, 12 M&L2 Color/Kind: 65 Black & BWF Weight: Avg: 750 lb. Range: 675-825 Weaned: yes Feed: pasture, 2 lb. commodity mix Implanted: some Health Program: Pyramid 5, 7 way clostridial, pasturella, dewormed Weigh Condition: pen early, 24 mile haul from 2 farms to Cattlemen's Livestock Exchange, 2% shrink **Pickup Date:** November 5th through November 8^{th,} No Friday take up. Clean Score: Clean Flesh: 4 – 5+ **EVALUATION COMMENTS:** Good set of grass yearling steers, weaned since April Contact: Brandon Myers 304-667-2178 LOT 19 *** ADDED*** 61 STEERS – 850 LB AVG – TOTAL 51,850 - YEARLINGS **Owner:** Ralf McClung Grade: 63 M&L1, 2 M&L2 Color/Kind: 63 Black & BWF, 2 Smokes Weight: Avg: 790 lb. Range: 750-870 Weaned: yes Feed: pasture only Implanted: yes Health Program: Vison 7 with somnus, enforce 3, bovishield gold 1 shot, mycoplasma and booster with Triangle 5 Weigh Condition: Pen early, early sort from 120 head **Pickup Date:** November 5th through November 13th, No Friday take up. Clean Score: Clean Flesh: 5 with few 6's **EVALUATION COMMENTS:** Good set of grass yearling steers, sort from 120, top end sells. uniform

Contact: Brandon Myers 304-667-2178

LOT 20 75 Heifers – 700 LB AVG - TOTAL 52,500 LB – Weaned 60+ Days **Owner:** John McClung Grade: 100% M&L1 Color/Kind: 74 Black & BWF, 1 Charl X (smoke) Weight: Avg: 700 lb. Range: 650-750 Weaned: Yes 60+ Days Feed: Pasture Only Implanted: yes **Flesh:** 4-5 Health Program: Bovishield Gold 5, MpB Guard (mico), 7 way black leg, somnus, pasturella, dewormed, all vaccines given 3 times Weigh Condition: pen early, sort from 90 head, shrink 2% Pickup Date: December 10-12th with 3 day notice Clean Score: Clean EVALUATION COMMENTS: Sort from 90 head, excellent quality set of feeding heifers, growthy, uniform group, young, guaranteed open, 3rd party verified weaned 60+ days Contact: Brandon Myers 304-667-2178 LOT 21 94 Heifers – 540 LB AVG - TOTAL 50,760 LB – WEANED 45+ DAYS

Owner: Cattlemen's Calf Pool Grade: 85% M&L1, 15% M&L2 Color/Kind: 85% Black & BWF, 15% Char X/Red X Weight: Avg: 540 lb. Range: 475-595 Weaned: Yes 45+ DAYS Feed: 5-6 lb commodity mix, hay, pasture Implanted: Some Health Program: Pyramid 5 (2x), 7 way clostridial (2x), pasturella, dewormed Weigh Condition: Haul 41 mile average to Cattlemen's Livestock, weighed individually Pickup Date: December 6th Clean Score: Clean

Flesh: 5

EVALUATION COMMENTS: Good set of heifers, good grass cattle, few with pinkeye scars, sort from over 600 head, \$200 refund on any bred heifers, 3rd party verified weaned 45+ days

Contact: Brandon Myers 304-667-2178

LOT 22 77 Heifers – 650 LB AVG - TOTAL 50,050 LB – WEANED 45+ DAYS **Owner:** Cattlemen's Calf Pool Grade: 90% M&L1, 10% M&L2 MARKET©READY Color/Kind: 85% Black & BWF, 15% Char X/Red X Weight: Avg: 650 lb. Range: 600-750 Weaned: Yes 45+ DAYS Boehringer Ingelheim Feed: 6-8 lb commodity mix, hay, pasture Implanted: Some Health Program: Pyramid 5 (2x), 7 way clostridial (2x), pasturella, dewormed Weigh Condition: Haul 41 mile average to Cattlemen's Livestock, weighed individually **Pickup Date:** December 6th Clean Score: Clean Flesh: 5 **EVALUATION COMMENTS:** Good set of heifers, good grass cattle, top end, few with pinkeye scars, sort from over 600 head, \$200 refund on bred heifers, 3rd party verified weaned 45+ days Contact: Brandon Myers 304-667-2178 LOT 23 87 Heifers – 585 LB AVG - TOTAL 50,895 LB – Natural **Owner:** Jamie Hunter & Calvin Elmore Grade: 97% M&L1, 3% M&L2 **Color/Kind:** 85% Black & BWF, 15% Char X/Red X Weight: Avg: 585 lb. Range: 525-700 Weaned: no Feed: pasture only Implanted: no Health Program: Bovishield Gold 5, Vison 7, Long Range dewormed at turnout

Weigh Condition: Pen sort from cows, haul from 4 farms, 10-23 mile to Cattlemen's Livestock, sex-sort and weigh top end. 25-30% penned night before weigh up. Late evening loadout.
Pickup Date: November 19th – 22nd No Friday take up
Clean Score: Clean

Flesh: 5 with few 6's

EVALUATION COMMENTS: Good set of heifers, few with small horns, sort from 102, top end **Contact:** Brandon Myers 304-667-2178 sells. Good/large carcass potential. LOT 24 ***ADDED*** 65 Heifers – 790 LB AVG – TOTAL 51,350 - YEARLINGS **Owner:** Ralf McClung Grade: 63 M&L1, 2 M&L2 Color/Kind: 63 Black & BWF, 2 Smokes Weight: Avg: 790 lb. Range: 750-870 Weaned: yes Feed: pasture only Implanted: yes Health Program: Vison 7 with somnus, enforce 3, bovishield gold 1 shot, mycoplasma and booster with Triangle 5 Weigh Condition: Early sort from 119 head **Pickup Date:** November 5th through November 13^{th,} No Friday take up. Clean Score: Clean Flesh: 5 with few 6's **EVALUATION COMMENTS:** Good set of grass yearling heifers, sort from 119, top end sells. Guaranteed open, uniform. **Contact:** Brandon Myers 304-667-2178